/*

/* 7 2010 06 13 ( )
/*

/** **/

#include "3048f.h" /* CPU

/** **/

/** **/

void main(void); /*

void InitializelO(void); /*

void Waitlmsec(void); /* ( 1msec)
void WaitMsec(int); /* ( ?msec)
int GetSW1(void); /*

int GetSW3(void); /*

/** ( ) **/

#define COUNT START 1 /*

#define COUNT _STOP O /*

/** ( ) *%* [

#define LED AL OFF Oxff /* LED

#define LED AL _ON  0x00 /* LED

#define OE ENABLE O /* ( )

#define OE DISABLE 1 /* ( )
#define FET ENABLE 1 /* ( )

#define FET DISABLE 0 /* ( )
#define LED7SEG ALL PA.DR.BYTE /* LED/7SegLED

#define OE 7SEG PB.DR.BIT.B7 /* OE:1C1/0utput Enable/7SEGMENT LED

#define OE LED PB.DR.BIT.B6
#define LED7SEG 2  PB.DR.BIT.B5
#define LED7SEG 1  PB.DR.BIT.B4

#define A 0x01

#define B 0x02

#define C 0x04

#define D 0x08

#define E 0x10

#define F 0x20

#define G 0x40

#define SW1 P7.DR.BIT.B1
#define SW3 P7_.DR.BIT.B5
#define SW ON 0

#define SW_OFF 1

/x> (AD ) *% /

#define VREF10BIT  0.00488281

/** ( ) *%* [

#define MTR1 PB.DR.BIT.B3

#define MTR2 PB.DR.BIT.B1

#define CTRO 0

#define CTR1 1

/** **/

#define True 1

#define False 0

/** **/

const char LEDSegData[10] = { :(A+B+C+D+E+F),
"(B+0),
_(A+B+G+E+D),
" (A+B+G+C+D),
_(F+G+B+C),

(A+F+G+C+D),

"(A+F+G+C+D+E),
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{

“(A+B+C), /7
" (A+B+C+D+E+F+G), /* 8
(A+B+C+D+F+G) }; /* 9
main
(void)
(void)
/
void main(void)
/* */
int Digitlst; /* 7 LED 1 (LED2)
int Digit2nd; /* 7 LED 10 (LED1)
float fVofAD; /* AD ( )
int i1VofAD; /* AD ( )
int LedOn; /* LED3 LED10 True= False=
int SvnSeglLedOn; /* LED1 LED2 True= False=
/* */
Initializel0(); /* .
OE 7SEG = OE DISABLE; /* 7SEG LED = (ICl.lgpin: OE)
OE LED = OE DISABLE; /* LED = (1C2.19pin: OE)
LED7SEG 1 = FET DISABLE; /* 7 LED (LED1)= (FET1/ )
LED7SEG 2 = FET DISABLE; /7 LED (LED2)= (FET2/ )
LedOn = False; /* LED3 LED10 False=
SvnSegLedOn = False; /* LED1 LED2 False=
for(;;){ /* (
if( GetSW1() == SW ON /* SW1 SW3
&& GetSW3() == SW_ON ){ /*
/* ______________________________________ */
/* */
/* ______________________________________ */
if( SvnSegLedOn == True ){ /* 7 LED
Digit2nd = i1VofAD / 10; /* 10
Digitlst = iVofAD - ( Digit2nd * 10 ); /* 1 ( Digit2nd
LED7SEG ALL = LEDSegData[Digit2nd]; /* 7segLED 10 .
OE 7SEG = OE ENABLE; /* 7SEG LED = (ICl.lgpin: OE)
OE LED = OE DISABLE; /* LED = (1C2.19pin: OE)
LED7SEG 1 = FET ENABLE; /* 7SeqLED1
LED7SEG 2 = FET DISABLE; /* 7SegLED2
Waitimsec(); /* 7SegLED1 (1msec)
LED7SEG ALL = LEDSegData[Digitlst]; /* 7segLED 1
LED7SEG 1 = FET DISABLE; /* 7SeqLED1
LED7SEG 2 = FET ENABLE; /* 7SegLED2
Waitlmsec(); /* 7SegLED2 (1msec)
}
T else { /* SW1 Sw3 .
OE 7SEG = OE DISABLE; /*  T7SEG LED = (1C1.19pin: 0OE)
OE LED = OE DISABLE; /* LED = (1C2.19pin: OE)
LED7SEG 1 = FET DISABLE; /7 LED (LED1)= (FET1/ )
LED7SEG 2 = FET DISABLE; /* 7 LED (LED2)= (FET2/ )
LED7SEG ALL = LED AL OFF; /* LED1 LED2 LED3 LED10
MTR1 = CTRO; /* (IN1)
MTR2 = CTRO; /* (IN2)
}
} r* « )
InitializelO
(void)
(void)
void InitializelO(void)
/* */
PA.DR.BYTE = 0; /* PA
PA.DDR = Oxff; /* PA
PA.DR.BYTE = LED AL OFF; /* PA (LED )
PB.DR.BYTE = 0; /* PB
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PB.DDR = Oxff; /* PB */

/* P7x 8hit */
/* AD */
AD.DRD = 0; /* */
AD.CSR.BIT.ADF = 0; /* A/D */
AD.CSR.BIT.ADIE = 0; /* A/D */
AD.CSR_BIT.ADST = 0; /* A/D */
AD.CSR.BIT.SCAN = 0; /* A/D */
AD.CSR.BIT.CKS = 1; /* 134 ( ) */
AD.CSR.BIT.CH = 7; /* A/D AN7 J1-2 ) */
/* */
ITUL.TCR.BYTE = 0x23; /* 1 */
ITUL.GRA = 0x0c00; /* 1 1/100 (0x7800) 1/1000 (0x0c00) 24.576MHz  */
ITU.TSTR.BIT.STR1 = COUNT_START; /* 1 */
}
/* */
/* ADConv */
/* (void) */
/* A/D */
/* A/D */
/* */
int ADConv(void)
{
/* */
int ADdata; /* A/D */
AD.CSR_BIT.ADST = 1; /* A/D */
while( YAD.CSR.BIT.ADF ) ; /* */
ADdata = AD.DRD >> 6; /* 10 */
AD.CSR.BIT.ADF = 0; /* A/D */
return( ADdata ); /* (A/D ) */
}
/* */
/* Waitlsec */
/* (void) */
/* (void) */
/* (1/1000 ) */
/* */
void Waitlmsec(void)
{
/* */
for(;:){ /> « ) */
if( ITUL.TSR.BIT.IMFA != 0 ) break; /* 1/1000 */
1 /* « ) */
ITUL.TSR.BIT.IMFA = 0; /* */
}
/* */
/* WaitMsec */
/* int msec ( msec) */
/* (void) */
/* */
/* */
void WaitMsec(int msec)
/* */
int iCnt; /* */
/* */
if( msec < 0 ) return; /* */
for( iCnt = 0 ; iCnt < msec ; iCnt++ ) Waitlmsec(); /* lmsec */
}
/* */
/* GetSw1 */
/* (void) */
/* SW OFF SW ON */

/* (SW1) */



/*

int GetSW1(void)
{

return( SW1 ); /*
/*
/* GetSW3
/* (void)
/* SW OFF SW ON
/* (sw1)
/-k
int GetSW3(void)
{
return( SW3 ); /*
/*
/* EndOfProgram
/*
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